








Part List & Hardware List (Box 1-WF306138)

1C { 1D 1E {
WoodBar-2pcs WoodBar-2pcs WoodBar-1pc

1F 2C 2D /
Panel-4pcs WoodBar-2pcs WoodBar-2pcs

B . ; > \
WoodBar 1pc Panel-4pcs WoodBar-2pcs

i 3G % o y
WoodBar-4pcs Panel-4pcs Panel-3pcs

4C 4E

N

WoodBar-4pcs

WoodBar-1pc WoodBar-1pc
- < > h \
WoodBar-1pc Panel-2pcs WoodBar- 2pcs
5D ‘ 5E 5F

WoodBar-1pc

Panel-1pc N

Panel-1pc N

04/23




Part List & Hardware List (Box 1-WF306138)

6A 6D | oE ™N
WoodBar-2pcs WoodBar-1pc Panel-2pcs ™\
7A o
WoodBar-4pcs l

05/23




Part List (Box 2-WF306139)

F

Top frame- 1pc

B

Top frame- 1pc

\

Drawer front -1pc

N

Side Drawer-2pcs

E

Drawer Rear-1 pc

F

\

Drawer Bottom Panels-2pcs

G

N

WoodBar-2pcs

H

Block the Drawers-2pcs

1A

\

WoodBar-1pc

-

WoodBar-1pc

=

WoodBar-1pc

2B

\

WoodBar-1pc

e

WoodBar-1pc

P

WoodBar-1pc

3D

\

WoodBar-1pc

P

WoodBar-1pc

>

WoodBar-1pc

4B

\

WoodBar-1pc

WoodBar-1pc {

WoodBar-1pc {

WoodBar-1pc |

06/23




Part List (Box 2-WF306139)

6C

WoodBar-1pc |

/B

-

WoodBar-2pcs

/C

~

WoodBar-2pcs

07/23




Hardware List (Box 1-WF306138)

M3.5 x 15 mm
Wood Screws 126pcs

1 2 3
0), I, 0)—»)»)»»»»); @
Screws 1/4" x40 Screws 1/4" x60 @8 x 30 mm
14pcs 34pcs Wood dowel 12pcs
4 5 6
Wheels 4pcs Hinge 8pcs Hinge 6pcs
7 8 9
ﬁz % Ay
M4 x 15 mm
Allen Key 1pc Padlock 2pcs Wood Screws 7pcs
10] 11 12 ﬂ
M4 x 25 mm
Wood Screws 2pcs Handle Wood 9pcs Bracket 14 pcs
13 14 15
\ M3 x 15 mm
Metal chicken leg 2pcs Metal chicken leg 2pcs Wood Screws 26pcs
16 17 18

M4 x 30 mm
Wood Screws 14pcs

0)-)))))))))))))))>

Screws 1/4" x70
8pcs

2

=

Assembly Tools Required (Not Included)

08/23




6(pcs)

wing below illustration

STEP2: oo

09/23




wing below illustration

STEP4: oo




STE P5 Following below illustration. ﬂ

N
\\
STE P6 Following below illustration. g\

11/23




STE P7 Following below illustration

2(pcs)  |4(pcs)

STE P8 Following below illustration




STE Pg Following below illustration.

13/23




~~ ~ 3
o\ \ n N
K m 1NN 8 o
~ ~ -«
<~ (p] ™ <
Y |8
2
™ N //‘
%

Following below illustration.

STEP11:
STEP1 2 Following below illustration.




(AN

2(pcs)
12 ﬂ
N

15/23

™

17
Z 28(p
35N /
B\/ P

=
)
|

STE P1 4 Following below illustration.

STEP1 3 Following below illustration.




« Following below illustration

STEP1 5 Following below illustration
STEP16




STEP1 8 Following below illustration

4(pcs) |24(pcs)

STEP1 9 Following below illustration

17/23




STE PZO Following below illustration

STE P21 Following below illustration




2(pos)
T
/

7
(
14

15

1
9

13
cs cs

STEP22
STE P23 Following below illustration







ﬂ/%%%







Finish

23/23




